Mathematics 11U

5.3 & 5.4 — Trigonometric Ratios for
Angles over 90°
Mr. D. Hagen



The Big Idea: Every ratio exists twice between 0° and 360°
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Lots of Terminology:
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Looking at trig ratios on a Cartesian Plane:
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Find the second equivalent trig ratio:

1. sin20 = S.\n((&()"}c)} = sn |60
2. c0s280 -~ cas(géo,;g% = (fos GO

3. tan110- 4 (10~ 1= tend90
4. csc192 = csel(§0-11))= (se(-R) - cse 315

5. sec18 = Se (?(70 -(9) = Ge 3L

6. cot215 =+ ((R0+3/5) = @Hqg ~ o+3C



Each PDiﬂt lies on the terminal arm of anglc A 1n standard pc:-sitic:-n*

i) Draw a sketch of cach angle 6.

ii) Determine the value of » to the nearest tenth. r\> ~ L‘ g)
iii) Determine the primary trigonometric ratios for angle 6. !

iv) Calculate the value of # to the nearest degree.
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Use each trigonometric ratio to determine BOTH values of 6
between 0° and 360°. 90° -
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Use each trigopnometric ratio to determinkelB/OTH values of 9)

between 0° and 360°. G Jo A
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Use each trigonometric ratio to detgermine BOTF’?values of H/}
between 0° and 360°.

3. cscO = —4.2013
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